"SECTION 1 | Test7

8+ =19 R A
w-7=10 T
I'ten+ - units = 14 A

8p+7p= 15p

2+9= .

14-5= ‘ 9
3+6=9+ R | I

10-5=12- N

B

+

Nf=

6+7=7+ . B

0

What number when added

to 4 makes 137 e

9is . less than 16. R

18 is ©: more than 9.

- Write the missing word.

1 whole one = four .

From a dozen subtract 7. - .

How much change is left
from one 10p after spending
two 2ps? [ < 1!

There are 60 minutes in 1 hour.
How many minutes in

o1
a zh a._

b 7h? b

What odd number is bigger

“~than 11 but less than 157 13

. 10
8 plus 7 minus 10 - B

Name the fourth month
of the year.

3!

0

___quarters

30min

15min

 April |

Schofield & Sims

Which of these lines is the
shortest, A, B or C? I -

A/—_—_—\\

B

T T N~

Harry is 11 years old. Olivia is
three years younger. How old
is Olivia? e B

Nadeen has nine 1ps. She
changes them for three coins.
Write the value of each coin. _ 5p_2p 2p
Eva has half a pizza and shares
the rest equally between two
friends. What fraction does
each of her friends have? .4
How many children chose

crisps as their favourite snack? . 4

fruit @ ©@
©©®© 0
©eO

one child = @

Crisps

biscuits

Write the correct sign <, >
or = in place of §.

3+10@18-5 =

Find the total of one 10p,
three 2ps and two 1ps. . 8p

Name the month that comes
next after December. _danuary
What length is added to 8cm

and 6cm to make 20cm? . Bbtm

Write the name of this shape. __rectangle
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17=T1ten+ =
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+
9 +8p = o p

16cm — 9cm = o dam

7+5+5= U ¥ A

18-7-6= R B

Write the correct sign <, >
or = in place of @.

Name the eighth month
of the year.

Find the difference between

3cm + 7cm and 19¢m. . 8cm

15p s

Take three-quarters from a

1 H
whole one. Y S

What number is 6 less than

the sum of 10 and 47 .8

What time
is it? Write
the answer

Find the total of 8p +5p+2p. . 15p :

What number is added to 13

to make 187 o 5

Find the difference between
17 and the next odd number

bigger than 17. 2

units I

= 12

@13-9 -

more than 8p. . 7p

ndigits. 7.5 -

10

SECTION 1 | Test 8

Add together the even numbers
that are less than 8.

A banana cost 13p. Emma gave
two coins to pay for it. If the
coins were of different values,
what change did she receive?

Estimate (guess) the correct
measuremerit ¢f the line AB.

is it 10cm, 4gm or 8cm?

A

12

_Zp

_8am

Write < or > to make the
statement true.
48 = 72

Ritvick saved 4p and 12p.
How much more must he
save to have 20p?

o Three friends each have a

guarter of a chocolate bar.
What fraction is left?

By how much are three 5ps
greater than one 10p and
two 2ps?

Ahmed had 11 marbles.

He lost five and then won 13.
How many marbles had

he then?

How many
square faces
does a cube

have?

p

19

' The three sides
. of a triangle
rang’e N\ together

measure 17cm.

. Two sides together measure

11cm. Find the length of
the third side.

bem

10 | 1




